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Multivariate Data Analysis
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* # Correspondence Analysis S 7
> ol=chindirep(("7a 8", c (7811, cep( (A", (78] ])
> pz=chindirep(("7a“8"),c(22)),cep(("B"), c(22]]) a8
> c3=chindirep(("/A°8 ™, c(200),rep( ("), c(200)) £5
> cd=chindirep( ("7 A" ,c(65)),rep( ("A"),c(65))) S )
> cS=chindirep ("7 A ™, c(8)),rep(("B"),c(8)))
> ce=chindirep(("/AH ™, c(2)),rep(("e"),2(2)))
> c7=chindirep( ("F A", c(68)),rep( ("A"),c(68)))
> cB=chindirep( ("F A" ,c(300),rep(("B"),c(300)) = [
> cO=chindirep( ("F A", c(T ), rep (e, e (7)) D o o
> mydata=data.frame (rhind{cl,c2,c3,cd, 05,00, 07,08, c9) ) et | g
> names (mydata) 22 g
[1] ‘X1 mxar o
= lengthimydataixl) 3‘- N
[1] 200 ; Q
o
> librarvical P . . §
= mytabhle=withimydata, takble(Xl1,X2)) # create a 2 way table’ L > printific) é}

> prop.table(mytable, 1) # row percentadges

vz " Principal inertias (eigenvalues) :
%1 i E o 1 2
7] 0.E5000000 O.18333333 0.16666667 Value 0.048172 0.0263582

7 0.26666667 0.10666667 0.02666667 Fercentage 63.12%  36.88%

%??ﬂ 0.64761205 0.25571429 0.066666R7
> prop.table (mytcable, Z) # column percentages

vz Rows=:

- N . - 7d 4 74 A |
74°] 0.36966825 0.36666667 O.68965517 Mass 0.400000  0.=250000  0.350000
7 0.30805687 0.13333333 0.06896552 Chibist D.236302 0.363560 0.224630
S 0.32227488 0.50000000 0.24137531 Inertia 0.022449 0.033044 0.017660

Dim. 1 -0.003071 1.6330900 -0.134991

» fit=caimytable
fry ) Dim. 2 =-0.827323 -0.574773 1.358063
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